Lecture 13
Exercise 1: How long does it take to transmit lSO O6XK ™ 05

packet over a store-and-forward network with 10 hops at the |(’) X ol \ p
D51 rate? Ata 1 Gb/srate? How does this compare to the prop- 910 ¥
agation delay for a 2000 km path? .
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Exercise 2: What fraction of an ATM frame is overhead? How
large does the payload of an Ethernet frame need to be to > Xé = s
achieve the same efficiency (an Ethernet frame has a 2 < 6-byte - ;’ -\‘\ ‘I“‘:k
t-7}
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Exercise 3: A 64-byte IP frame is being transmitted over ATM
to VPI/VCI 0.33. Calculate the contents of the ATM cell headers
(set the CRCs to zero).
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Exercise 4: The diagram below” shows the switching tables
at each port of a small ATM network. Where do the frames la-
belled A and C end up?
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